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This question paper is divided into four sections.

Section I contains 15 Multiple Choice Questions carrying one mark each.
You have to choose a correct option out of the given options and write the

same in your answer-book. Answer any 13 questions from this section.

Section II contains 17 Short Answer Type Questions carrying two marks

each. Answer any 15 of these questions.

Section III contains 11 Short Answer Type Questions carrying three

marks each. Answer any 9 of these questions.

Section IV contains 4 questions carrying five marks each. Answer any 2 of

these questions.
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SECTION 1
39 @UT 7 @ fH51 13 Fo41 & I 19T | 1x13=13
Answer any 13 questions from this section.
1.  3Ifc IS Tueiar 9 &1, df 9reieil & s a1y Ud g1 ol [&a9H 8idT & 1
)  YSf  ofqua °
(i) F9H 9T |

(iii) @SRRI g fu T T % IUE H

(iv) @ISl & STTEX & 3TaTd d

If there is no agreement, profit and loss is distributed among partners
(1) In capital ratio

(i1))  In equal ratio

(iii) In the ratio of loan contributed by partners

(iv)  In the ratio of partners’ drawings

2. 3 3R ¥ fomr forell Awsiid o & @Eic BH H WEICR B | 31 9 BH
T 2,00,000 7 07 feam | 99 & FA=d H BH g0 37T & RO W AN AT ST
=AY 1
(i) 5% aNh HI W H
(i) 6% aTde 6 T &
(iii) 5% ATTE H T A

(iv) s & &l
A and B are partners in a partnership firm without any agreement. A has

advanced a loan of ¥ 2,00,000 to the firm. At the end of the year interest
on A’s loan should be paid by the firm

1) @ 5% per annum
(i) @ 6% per annum
(iii)) @ 5% per month

(iv)  No interest
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foreft T TTEier & YA W 9ret Y wH & Tt greiert g fawfsa feew sman
() YU U@ H

(i) T oAU U U |

(iii) 1T oW fauSE 31gda §
(iv) 39 § | Forelt &

On the admission of a new partner, the future profits will be shared by
all the partners of the firm

(1) In the old ratio
(i1) In the sacrificed ratio
(iii) In the new profit sharing ratio

(iv)  None of the above

& Ush 1 WTHER A fE i wifd Ushg § oA g, dl 39eh! GUH TSGR
fowfa =@ 8

i) E oy faueE U o
(i) T fehU MY STgUTE §
(iii) T ATH TIHSE I H
(iv) 9t % 31qdTd |

When a new partner brings his share of goodwill in cash, it is shared by
the old partners

(1) In the old profit sharing ratio
(11) In the sacrificed ratio
(iii) In the new profit sharing ratio

(iv)  In the ratio of capitals



5. o fopH) U Arsier i yaw feam Sar B, O BH o Wrell ol d Ut &
B 1

()  Id9H Hel o 8l o S

(i) A9 ISR o AT o ST
(i) &t TSR < Gl ATEH H S
(iv) SHI® § E HIS T&l

When a new partner is admitted, his share in the firm’s future profits
will be

1) Equal to the shares of the existing partners
(i)  Equal to the sacrifices of the existing partners
(iii) Equal to the capital contribution of all partners

(iv)  None of the above

6.  3TaMY Ul B I W HIH S S| & Yo TR Al § fawriora & S 8 1

i) Y5 o U |
(i) & 3R g fawrsm w6 orguma |
(iii) GO U™ |

(iv) 39k H 9 Torelt oeR w =&

Amount received from the Joint Life Insurance on its maturity is
distributed among the partners

1) In capital ratio

(11) In profit and loss sharing ratio
(i1i)  In equal ratio

(iv) Not on any of the above basis
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7.  Tordfl ATSeR %1 2@ B 9H W
(i)  H I HETIH B ST 8
(i) FTEER %1 gET B S 3
(iii) WH TR HTSER GHI 1 THTIH & ST &
(v) IO # @ o T8 B
On the death of a partner
(1) The firm is dissolved
(i1))  The partnership is dissolved
(iii) Both the firm and partnership are dissolved
(iv)  Neither of the above happens
8.  UH HIHh WhY HEH 7T B
(i) s wES
(i) TH W AfH
(i) fagm gra Ffda =fw
(iv) T Saufisr arern e
A joint stock company is not
(1) A human being
(i1) An artificial person
(iii) A person created by law

(iv) A person having a perpetual succession

9. T WIEA HHIH o foTU Taeaeh Gl hl ~IHad &1 §

G) =9
(1) 9™
iii) 9|

(iv) @

The minimum number of members required for a private company is
(1) Twenty-five

(i)  Fifty

(iii) Seven

(iv)  Two
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11.

12.
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Teh ITTh HHIT § ITod hidl & 1
(i)  HHRE

(i) =S
(i) T
(v) ddq

A shareholder receives from the company
) Commission

(11) Interest

(iii)  Dividend

(iv)  Salary

319 3Afehd Hod o SR Hod T WM 1 I Hgardl o 1
() & W e
(i) o9 R e
(ii) &g W e

(iv) IuHed W i

Issue of shares at a price equal to its face value is called
1) Issue at a loss

(i)  Issue at a profit

(iii) Issue at a discount

(iv)  Issue at par

forcfiar foreor o forweiwor %1/ J&d 3239 &/ 1
() Yo i FHRET AT

(i)  Toreia FSe 1A BT

(iii) 3T BHT & A1 JOHTCHS HETIT T

(iv) 39w avft

The main objective(s) of analysis of a financial statement is/are

(1) To know the efficiency of management
(i1))  To know the financial strength

(i1i) To make a comparative study with other firms
(iv)  All of the above

7 P.T.O.



13. focia foemor grqwr § feu @ d@ien & 31fehe B4 & S 98 3Id 8
(i)  hd AN STNTRATsT o forw
(i)  °hdcl STEI SUANTRAIS o [T
(iii)  3T=ANEh ITATThRATSTT Tl STel SUANThdIS & T
(iv) 3k 4 § iE TE

Financial statements are statements in summarised form of accounting

data, which are helpful

) To internal users only

(i1)  To external users only

(iii) To internal users and external users

(iv)  None of the above

14. onqd wfraft o aftifera 2

(i) wfa

(i) kS

(iii) reR

(v) ¥ & W

Intangible assets include
(1)  Goodwill

(ii)) Cash

(iii)  Furniture

(iv) Land and Building

15. Ush 1 o 3TN o BEATALT 1 379 B

() 3TN 1 foasha
(i) 3TN T W
(iii) 3TN 1 GUYU

(iv) 39Ih § ° HI5 a1

The meaning of transfer of shares of a company is
1) Sale of shares

(i1)  Forfeiture of shares

(i11))  Surrender of shares

(iv)  None of the above
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wQug 11
SECTION II

Answer any 15 questions from this section.

16.

17.

18.

19.

20.

21.

22.

23.

304

I UHT qf WE arsy A1 S Yoit T §l, 91 T A9iER % =0 (He) @Id h
W u H fewdt 8 |

State any two items that may appear on the debit side of current account
of a partner when the capitals are fixed.

QTR @Tar 9T BT § 2

What is ‘Revaluation Account’ ?

=3 31 aftfeufoat samsy e v wreiert o 8 e @rar s S g |

Give any two circumstances in which Revaluation Account is prepared in
a partnership firm.

Teh ATl B o fo=ed 9 o91T 9 a1 @Tdi o 919 oqmsy |

Name the accounts prepared on the dissolution of a partnership firm.

greieil w1 o faeed 6 el @ fafert =1 3g@ Fifsw |

State any two modes of dissolution of a partnership firm.

“UTgale HraT hT T 37 @ 2

What is meant by a ‘Private Company’ ?

‘IT3m 1 I3 W T 31 SaTsy |

State the meaning of ‘Issue of shares at discount’.

g Q HHU Fa13C Seh! a8 & his IuHRRT (Fasmeh) T wrat & 31n

YT 3Gk RUYT T 98 HL |
Give any two reasons why an investor may prefer to invest in debentures
of a company rather than in its shares.

9 P.T.O.
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24.

25.

26.

217.

28.

29.

30.

31.

32.

304

TTECE OTTHAT qT dTgeh (SR) O] | ST T8 I |
Distinguish between Registered debentures and Bearer debentures.

UHt 15 qf He FA1sy S wrol Afafem, 2013 s SR IO, 9 11 % TTER
A Td g1 o forewor 4 fodt |

State any two items which appear in the Statement of Profit and Loss as
per Schedule III, Part II of the Companies Act, 2013.

T A1 R BT 1 forawer wep “Forfia Ty’ @ 2 s&en! o= S ST 8 2

Is the Statement of Profit and Loss a ‘financial statement’ ? Why is it
prepared ?

1ty varg faawor =1 @ 21 B 2
What is meant by Funds Flow Statement ?

ffr yarg foewor @ o= yfgmafaat w1 31 saEu | s=e gfEeataEt & @
3ETET I |

State the meaning of Non-Current Assets in Funds Flow Statement. Give
two examples of non-current assets.

TS AT ! THSTIT |
Explain liquidity ratio.

Aehe aTE foawer s % Thedl ) 3eval 1 SaTsu |

State any two objectives of preparing a Cash Flow Statement.

HIHT o ‘ST HT 37 T4 |

State the meaning of ‘share’ of a comapny.

ATSEH Hol@ o A9 H Afshd HIZGRI I 9a- 1 YIAH hid AT TSGR
HTEW0T W AT oh Tee=g | o1 T ey g 2

In the absence of a partnership deed, what rules will apply with regard to
payment of salary to the active partners and interest on partners’

drawings ?

10
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SECTION III

59 @S 7 G 19 yoa1 & I Fw | 3x9=27

Answer any 9 questions from this section.

33, JAJIMTTHBHH3:2% FUC § oY AU A a0l AEPER 7 |
1 S[TE, 2016 ! & o Y I T 30,000 i TRT 0T o €9 § & | AEER! Ho@
greer g fer U ko WA % SR 4 {49 B |
31 fegrst, 2016 1 ®H gRT & i foU I o1t ST <Y TUFT <hifrg | 3

A and B are partners in a firm sharing profits in the ratio of 3 : 2.
B advanced to the firm a sum of ¥ 30,000 as a loan on 15t July, 2016. The

partnership deed is silent on the question of interest on loan from
partners.

Compute the interest payable to B by the firm on 315 December, 2016.

34. 3 M I T ARG HH H ATEICR & | 3T ATH-gTH fI9=H 3 3: 27 |
Wit ol H 1/5 WM % T 98 @ bl Ush ¢ HIEER % &9 § Fa9 &4 B |
TS o 7 AT o SiaTa shi o KR | 3

A and B are partners in a partnership firm. Their profit and loss sharing
ratio is 3 : 2. They admit C as a new partner for 1/5 share in future

profits. Calculate the new profit sharing ratio of the partners.

35. warsy 6 felh v & fomred % v w Fefafea et & fow e @ =
Sfere fopam Srem =1 shfge 3

()  foue & =93 T 4,000 8¢ |

(i) ®H H &R § T 5,00,000 W fe@r T =l HI et @ #
BEATaRd e feam |

(i) g W FHAT T 60,000 FHT ATH HISSR & o1 WAl H e L e
T |
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36.

37.

38.

304

State whether Realisation Account is debited or credited at the time of
dissolution of a firm for the following transactions :

) Dissolution expenses amounted to ¥ 4,000.

(i1))  Goodwill worth ¥ 5,00,000 appearing in the books of the firm
transferred to Realisation Account.

(i1i)  Profit on Realisation ¥ 60,000 transferred to capital accounts of
partners.

TS AT qAT dfecteh AT o o fAfIRad 6 UR W T
SHifTT

()  HeEl I AaH T

(i) ST % 3T b AfUGH &g AT I =0

(iil)) II9 bl IFY

Distinguish between a Private Company and a Public Company on the
basis of the following :

(1) Minimum number of members

(i1))  Invitation to public to subscribe to company’s shares

(111) Commencement of business

AT (3fadl) Tl don At (hH) 1M % e SR % B3 dF faeg
ERIER

Give any three points of distinction between Equity shares and
Preference shares.

1.1.2017 ! Wi HrIed fafes 4 T 100 T&% % 1,00,000, 6% 04,
4% g R Tifuq fee | ufsr 1 g @ 23 ot -

A& W T 50 Ul oo iR A9 ereied W | weft fpwd ot gred @ E |
Ol o T & fou stevaess Usm=n gfafseat i |

On 1.1.2017, Modern Computers Ltd. issued 1,00,000, 6% debentures of
T 100 each at a discount of 4%. The amount was payable as follows :

On application ¥ 50 per debenture and balance on allotment. All
instalments were duly received.

Record the necessary journal entries for issue of debentures.

12



39. = UM @i U ¥ fohg R fir grar 2 2 @ =] SHu qu i
3TUTd THHTH Bl Hehd & ? 3

How is Current Ratio different from Quick Ratio ? Can Current Ratio and
Quick Ratio be the same ?

40. Ty yarg foewer 1 19 saEe | Wiy varg foawo § ffy % @at & w5 a
7 FAT3T | 3
State the meaning of ‘Funds Flow Statement’. Give any two items of

sources of funds in a Funds Flow Statement.

41. Thg YT fIaRwr & g o9 A9 Jqrsy | 3

Give any three advantages of Cash Flow Statement.

42. U AT HIEER % YO W A G TNl ok IEd AH H AT — 36 IER |/
AT 3 U1 L T TEEH 7 |
Td °iE a9l b AH § 3
T 40,000, T 30,000, T 20,000, T 60,000 3R T 1,50,000.
ST 1 UM SHIT |

There is a provision of calculating goodwill on admission of a new partner
on the basis of twice the average profits of the last five years.
The profits of the last five years are :
T 40,000, ¥ 30,000, ¥ 20,000, ¥ 60,000 and ¥ 1,50,000.
Calculate goodwill.

43. Gehel AT IFTJUTA ohl TUMFT hHl < Tl g ? I8 TG AT ST & 2 3

How is Gross Profit Ratio calculated ? What does this ratio indicate ?

304 13 P.T.O.



@vug IV
SECTION 1V

59 GV § G ] @l o7 & I a7 | 5x2=10

Answer any two questions from this section.

44. RO Gigd Farsy foh Uk ATSER o AaT-fEd B W HISER TH & Sl @ A
Hreleil ®H 1 THYT 8 ST & | grgier <hl dar-Fafa s geree feu

c

T 8 ? 5

State with reason whether at the time of retirement of a partner,

partnership is dissolved or partnership firm is dissolved. What

adjustments are made on the retirement of a partner ?

45. SO AfgTRM, 2013 1 AT 101, 9T 1 TTIR Th HIGT o gord-99 |

frafaRaa 7e fee v g IU-3fve! & of=rid fe@rs ot ? 5
(i) <ER
(i)  ==f=G

(i) 371 gSit
(iv) =l HIA &1 &k
(v) o T Uhs

Under which headings and sub-headings will the following items appear
in the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 ?

(1) Debtors

(i1)  Machinery

(iii)  Share capital

(iv)  Stock of raw material
(v) Cash at bank

304 14



46.

47.

304

(i)
(i1)
(iii)
(1)
(i1)

(iii)

ot weraeh o fore ffy warg foawor fopm wrepm SwaImft 2 2 5
fofer yarg favemor & forw -8 g foewor sATC SITd § 2

e G 3w % e § s e e § 0

How is a Funds Flow Statement useful for a financial manager ?

What are the two statements prepared for Funds Flow Analysis ?

What do you mean by Statement of Changes in Working Capital ?

gl @rar = g 7 ? Fefafea sttt ¥ 31 fgaest, 2017 1 aget @

o150

1)
(ii)
(iii)
(iv)
v)
(vi)

What

P IRIERET (T 450 Thg i fHATR) T 32,250
3, 9 3R T h HaA S T 27,500

fafay S e T 4,750

INEHET (Tehs i Bighl) T 38,250 | o= 718
fafay <FgRI =1 ot gram & ®9 8 T 4,500 feT MU
FHAT % = T 700 Y

is Realisation Account ? Prepare Realisation Account on

315 December, 2017 from the following data :

1)
(ii)
(iii)
(iv)
v)
(vi)

Total assets ¥ 32,250 (including cash I 450)

Total capital of A, B and C ¥ 27,500

Sundry creditors ¥ 4,750

Assets (except cash) were sold for T 38,250

Sundry creditors were paid I 4,500 in full settlement

Expenses of realisation were ¥ 700

15 300



